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QUESTION 1

If a router receives routes from a route reflector, packets destined to the learned prefixes by default must go through
what path?

A. To the next BGP hop
B. To the BGP neighbor
C. The Route Reflextor
D. To the Next IGP hop

Correct Answer: A

QUESTION 2

What can PTP be used to synchronize?
A. Time, frequency, phase

B. Rate

C. Phase, time

D. Frequency

Correct Answer: A

QUESTION 3

What type of PW is the CESOPSN?
A. Structured and unstructured

B. Unstructured

C. Unframed

D. Structured

Correct Answer: D

Reference: https://www.cisco.com/c/en/us/td/docs/routers/asr903/software/guide/cem/16-7-1/b-cem-
ds3-xe-16-7-1-asr900/b-cem-ds3-xe-16-7-1-asr900_chapter_010.pdf

QUESTION 4

Which two options configures an ASR920 router as a hybrid clock? (Choose two.)
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A. ptp clock boundary domain O

B. ptp clock boundary domain 0 hybrid
C. ptp clock ordinary domain 0 hybrid
D. ptp clock ordinary domain O

E. ptp clock

Correct Answer: BC

QUESTION 5

In how many seconds, after a failure of the primary or active paths when BGP Fast Reroutes enables alternate paths?
A. 5 seconds

B. 10 seconds

C.
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